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	هدف آموزشی: مفهوم انتگرال     


	

	مقدار میانگین تابع
[image: image7.wmf]x

x

f

2

sin

)

(

=

 در بازه 
[image: image8.wmf]]

,

[

3

6

p

p

چقدر است؟
1)   
[image: image9.wmf]6

p

                             2)   
[image: image10.wmf]p

6

                             3)  
[image: image11.wmf]p

3

                                4) 
[image: image12.wmf]3

p




	
[image: image13.wmf][

]

p

=

-

-

p

-

=

p

-

p

p

-

=

-

ò

p

=

=

p

p

p

p

p

3

2

1

2

1

3

3

3

2

3

2

2

1

6

2

6

1

3

6

3

6

)

(

)

cos

(cos

cos

)

(

sin

x

f

xdx





	

	هدف آموزشی: مفهوم انتگرال     
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	هدف آموزشی: مفهوم انتگرال     
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	هدف آموزشی: مفهوم انتگرال     
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	هدف آموزشی: مفهوم انتگرال     
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	هدف آموزشی:مفهوم انتگرال
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	هدف آموزشی: مفهوم انتگرال
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	الف درست است بنا به تعریف حاصل انتگرال معین 
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	هدف آموزشی: مفهوم انتگرال
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	هدف آموزشی: مفهوم انتگرال
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	هدف آموزشی: مفهوم انتگرال
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	هدف آموزشی: مفهوم انتگرال
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